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Use the order of operations to evaluate expressions
1 (2-9) 413
Ollaal i plazoiwl &S dlusdl Jlxe § Louall juladl dad ola)

cyeead S Aol S g s G 85 ledt lleal) i .

1
2. 5 % (92 — 18) = 3. 12 + (42 — 11 = ol ded angl 2
el ) Sl e a2l dewally oo pn)) wllee Lol W3
=5X%x 74 =370 =12+ 16 — 11 sl 1) L) g s 0l polally pead) cililee o) 4
=Pl — Tt s s~ 0000
=" 7
4. (15 —5) x [(9 x 3+ 3] = 5.58 — 6 X 7 =
= 10 X[ 27+ 3] = 58— 42
=10%x 30 =16
= 300
6. 55 — [(52 % 3) — 52] = 7.7 x10 + 3 x 30 =
= 55 —[(25%X3)—25] =70 + 90
= 55 —[75-25] =160
= 55 -50
= 5

8. 22 + {1 x (5 — 2)] x 3} = ¢ {(2x[4 -6+ 22} x 3=



Use the order of operations to evaluate expressions

Oldaal b5 plazoiwl &80 dlusdl Jlxe § Lovall juladl dad ola)

(2-9) 413

8. 22+ {[1x (5 = 2)] x

4+ {[1x3x%x3]}
4 + 9
13

3} = 9. 2x[4-(6+22))x3=

Il

{2x[4=3]}x3
{2x1}x3
=0

ooled¥) e 33,0e)) calloal) o

PO ([ DO JES

eed) () lad) o s ill dewally wopal) willee o]
SCODU] [y | R BUL | RCVRIEIN. Je-1| N N [ PSS | EN W DS
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Use numbers and operation symbols to write verbal phrases as numerical expressions

ildandl jgayg dlasVi plasuiwl ddad) Gl JLdad Lods ylas LS

(2-4)

419

*g}u#-_-‘lﬁi.ﬂ-!-"##‘

(20 - 4) 2 S pabd) pudl 320 pie & 00 3

9+4) x2

2 8 apaled 49 a4




1 (i-1)
Oldaall (b3 plasiwl Cilpdiall @13 plai)l dagd sl |

b=99a =4 yS 13| puai JS ded asgl

1. 4 + a | 2. b+ 30 = 6
4+ 4 '=3--5(30+6)
—8 _ 14
3.b—-a)+6 4. a x a—5_
(9—4) + 6 4%x4-5
> +t6 =11 =16-5=11
5.3a -2 6. 6b+ 3 x 9
3XxX4-2 6 X9+3%9

=12-2=10 =54 + 27 =81




Oldaall (b3 plasiwl Cilpdiall @13 plai)l dagd sl

€=1005,b=63,a= 04 yiS 13| peuti JS igd gl

7.a+ b 8. c—a

=0.4+6.3 =10.05—-0.4

= 6.7 = 9.65

9. b-6_ . 10. (9 + ) - b .

=6.3—6 '-—(9+1005) 63
= 0.3 = 12.75

M. {c—-b) +5 2.(a+b+0c)-7

= (10.05 — 6.3) +5 =(0.4+ 6.3 +10:05) — 7

= 8.75 =9.75



Determine the commeon factors and the greatest common factor of a set of numbers

AN oo ds gameal ASYI )il Joladlg A5 Akl Lol gall s

(3-10)

495

s (30 dbgeone S Y1 & el Joladl u

3. 24, 60

N AN\,

24 =
60 =

X 8

5\4\ @)/>>® @{)@

X
S
[

e
2)%x|2 5

GCF =2%x2%x3=12



Determine the commeon factors and the greatest common factor of a set of numbers

ol oo de gazeal ASYI ) Aa)l Joladlg AR Al Lol gall duuss

(3-10)

495

4. 12,18

12

el (0 Angent S WSYI & i) Jolad! dovgl

18\
4 A

@@



Determine the commeon factors and the greatest common factor of a set of numbers

ol oo de gazeal ASYI ) Aa)l Joladlg AR Al Lol gall duuss

(3-10)

495

18
§

18
42

5.

GC

sl 30 dopeone JSI pS8I & i) Joladl davyl

18, 42

e
T

X 3
X 7

X X
[ )

I T
|
N
X
)
I
o



Determine the commeon factors and the greatest common factor of a set of numbers

ol oo de gazeal ASYI ) Aa)l Joladlg AR Al Lol gall duuss

(3-10)

495

sl 30 dopeone JSI pS8I & i) Joladl davyl

6. 30, 72

/\

X\6
£y é\ %

30 =
12 =

/\

2
2[x 2 X

GCF =2%3=6



Determine the commeon factors and the greatest common factor of a set of numbers

. (3-10) 495
ol oo de gazeal ASYI ) Aa)l Joladlg AR Al Lol gall duuss

7. 4,10, 14 Y (3 g U oSY1 & ligdl Jolad! aovgl

£ g

S

X

X2
X 5

I
S N]

ok
S
|l
C:
J



Determine the commeon factors and the greatest common factor of a set of numbers

(3-10)

ol oo de gazeal ASYI ) Aa)l Joladlg AR Al Lol gall duuss

495

8 14 35 84 Y (3 g U oSY1 & ligdl Jolad! aovgl

2 Ko

/\
/\

A
40

14 = 2 X 7

35 =257
84 = 2 X2X%xXx3 X7

GCF = 7



Determine the commeon factors and the greatest common factor of a set of numbers

(3-10)

ol oo de gazeal ASYI ) Aa)l Joladlg AR Al Lol gall duuss

495

9. 9 18, 42 s ¥l (30 dsene S w881 & il Joladl aovgl

1 8\
- £ N\

@ 6 ® @
N

@x®

9=3X%x3

@ @ 18 =2 x3x%x3

42 =2 X3 X7
GCF = 3



Determine the commeon factors and the greatest common factor of a set of numbers

ol oo de gazeal ASYI ) Aa)l Joladlg AR Al Lol gall duuss

(3-10)

495

el (0 Angent S WSYI & i) Jolad! dovgl
10. 16, 52, 76

52

16 @/x\zﬁ @{)

) o 16=?><?><2><2
/\ 52 = 21X421x 13
76 =l 2X|2 K19

@@ GCF = 2x2-4



Generate equivalent fractions by writing a fraction in simplest form

. (3-11) 501
890 Jacul ﬁfuﬁl LS I 0 didBo guS 9SS




Generate equivalent fractions by writing a fraction in simplest form

(3-11)

8)gu0 .h‘ui{jfuﬁi LS I 0 didBo guS 9SS

501

2
2 4
® -5 "

j\SE" Jadd) Jalall 4 - 4




Generate equivalent fractions by writing a fraction in simplest form

8)gu0 .h‘ui{jfuﬁi LS I 0 didBo guS 9SS

(3-11)

501

6 :
E EQQ-@JQ.&@ié 3?_;

ASYN AL Jalal! 21 -3

13.&3‘.5”3-‘9-«4_-” 30 -3
4

10

S S Jaladl




Add like fractions and solve word problems involving the addition of like fractions

dgladall HguSl aaz sl L_“‘Ji Ao Y8 Jiluadl Jorg dgsliiall jgusSdl zaz

(3-11)

357

Ay Jau) oD Eeeme JS IS p!

5 i 3
— 4.— —
8 8

+1 2 5 +3
6 6 |~ 3

1 |_8 _.
— =z |Fg =

i
o|ro
e
o |w
I

N
O | +
w

|
O | v




Add like fractions and solve word problems involving the addition of like fractions

dgladall HguSl aaz sl L_“‘Ji Ao Y8 Jiluadl Jorg dgsliiall jgusSdl zaz

(3-11)

357

s 2 2 5 _

6.7+7— B'ﬁ-l-ﬁ_

1+1 2 +5

—— 10

- 10
31 £5d

9_ §+§_ N — 10 4 + 4
_3+1 cgreficog/er 4
— 3 _8 o 4 _4'
_4+4 - 1 =1

LN N

_|_

L= LN

.|. o

B o O B

NN

U1 o un

w| o] e

W= F




Subtract like fractions and solve word problems involving the subtraction of like fractions

(4-12)

dgpladall jguwSll 7yl pasais G AedEUl Plunall (g Agladall H3uSdl 7yl

563

e el B 5,8 JS Cas) .z e




Subtract like fractions and solve word proble

ems involving the subtra

of like fractions

dgpladall jguwSll 7yl pasais G AedEUl Plunall (g Agladall H3uSdl 7yl

(4-12)

563

7 7 S I —
6 -5 5 2 3+3
I ; 9 9.3
1 1
T -
31 _ 9 3
07777 — My —
3-1 2 | 9-3 6
4 4 | 12 12
2 -7 1 6-6 1




(4-15) 601

Use number sense and benchmark fractions to estimate sums and differences

danzyall HguSdlg ouall Lusddl plasciwl jguwsSl 39,39 auolxo 4uadS

oAS 30 OB I Byhe oS sae JS L40

= — _ 3
7 _ a1 LI 3 _ 34
7 GE 15 8. 812+43 9. 15? 3?
~ 7 — 1 Al + 4 ~ 15 — 4
=13 =11




Use number sense and benchmark fractions to estimate sums and differences

(4-15)

danzyall HguSdlg ouall Lusddl plasciwl jguwsSl 39,39 auolxo 4uadS

601

10. 10% —p 1 ()

B

~ 10+ 8
=18

3 13
13. 19? + 7

19+ 1

Q

P L WS u;i o) B yao oS dis JS 48

M. 135 =—13
1
~ 13— 4

12. 12% — 13

3
5 =) 1()

~ 13 +10
=23

+9

9 5
15. E+16§
1+ 17
=18

Q




Multiply whole humbers and fractions

29uSlg &SIl Slae¥l G

gIud) Gl - (s s

2. Lx 12 = 3%><20—
1 12 1 20
— X — = —_ X — =
3 1 4 1
1><12_ 1x20
3x1 4 x1
12 20
— — =~/ &E
3 4 4
5.%):?: 6.%3‘(14:
1><7 2 14
| —— — X — =
5 1 3 1
1x7_ 2 X 14
5 F9
Zzlz E 1
5 5 3 =~ 9~
a12><;—= 913><%=
1 12x1 12w 2
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Multiply fractions

(5-10)

677

298l o
-;JHM;“’B#'*?_@'
3.5 3.5 2 1
— e I —_ X — = — X ==
576 6. 7712 7.5 %3
3 1 3x5  15+3 ax1_
6 2 4x12 48+ 3 IX3
_5 _ 2
=16 27
1
3.2 Pop 2 3 5
‘2 5 9.3 5 10. =
3 %2 1x2_z 1
4x5 3x5 15
6+2_ 3
20-2 10




(50%) S ¢ sl
9380l sl 10




Evaluate expressions with variablesusing the order of operations _ (11-12) [ 440

obdaadl Ly plasil Olpaiedl OIS plad)! dad uo-g 9 442

oS 8y =9 oS 13) peard) 308 Lo e Lgadad 2 el rag S sue cand y = 3 peanl) (S ol W1
W Lgadad 2l o) 2og LS sue

| agSlall lan)l e 13ae g ) e sy besbial) gasY agSLl 3,008 24 JLs> s .12
) oo e Lages o)) agSlally slaal) sue oS Sallud) oda ag i) el b Jler o0
1 ngLu.:.g sdigd) oS
r Sy m o Joo> o J91 pux )l e

24 —m
Sobixdl Olpa= = Gia> 90

24—11 =13 11 Lioxd m Jau J ki




Evaluate expressions with variablesusing the order of operations

(11-12)

440

obdaadl Ly plasil Olpaiedl OIS plad)! dad uo-g

442

/m—4='|6

m =20

sad e Lyaoe b Pﬂﬁﬁ@ﬁ&;#ﬁmi Jol) Ao pog
£olS ol aaall 3,5 clbllay sae oS slow Llsy adslas oSl Laasdl 5,50 a3l 16 ¥

YR RY

ladl A e gal

dualy Jl -




2.0, 7,14, 29, ...

Gabed) 2ad) ) 7 Bl ol .
28,35 ,42 Adlal) ASDEN 3 gasd)

4.2, 66, 60,54 . . .
Glad) 131 (e 6 b Jaadll
48 42 36 Al LA gl

6. 2,4, 8, 16, . ..
2 2 Gl ) cpa gy
32 ,64 ,128 :auul &GN agaad)

Identify and extend patterns and sequences (2-13) 451
Olbrally bl aiuwgis i (1-4) 453
} AL S 8 AJbY) D) sgasd) OS] pd | dagd) sase bl

3. 1,458, 486, 162, 54, . ..

3 o Ggld) al) apdi  : aadll
18 ,6 ,2 A0 A5 3 gas

2139 27 . .

& 3 = Gl aall @ pa : Jaadl)
81,243 ,729 Aty A5NEY 3 gasd)

7. 94, 88, 82, 76, . ..

Gled) aall (e 6 7 ok : Jaadl)
70 ,64 ,58 - 48t ABDEY 8 gasl)



Identify and extend patterns and sequences (2-13) 451

Olbrally bl aiuwgis i (1-4) 453

Al JS 0 AJEY DY dguod! LS pd . Jaedd) Sdo-

8. 12, 24, 36, 48, . .. 9. 512, 256, 128, 64, . ..
Gild) aal) ) 12 L) Laadll 2 o Gl aal) apudi  :daall)
60 ,72 ,84 4l A agaal 32,16 ,8 - 4 L) ageal)

A

10. 8, 13, 18, 23, . . . 1. 11, 24, 37, 50, . . .
Grabad) aad) ) 5 ddLs) Gralad) 2ad) ) 13 AL
28 ,33 ,38 63 ,76 ,89

12. 83, 75, 67, 59, . .. 13. 2, 8, 32, 128, . . .
Gl aal) (00 8 7 sk 4 < Gl )l qpa
51 ,43 ,35 512 ,2048 ,8192




Identify and extend patterns and sequences

(2-13)

451

Olbrally bl aiuwgis i

(1-4)

453

1. 5, 10, 20, 40, . ...
2 = Gl sl Gl
80 ,160 ,320

. 192, 96, 48, 24, . . .

2 o Gilad) dal) apds
12 ,6 ,3

2. 63,58, 53,48, ...

Gl aall (0 § 7k
43 38 ,33

4. 4, 11,18, 25, . ..
Gabad) aal) L) 7 ddL)
32,39 ,46

Adlie S L LI BAUY) guoud) LaS) pd L dagd) sd i
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Graph points on a coordinate plane to solve real-world and mathematical problems

GVl gl 3 Absal z19H Sl el plaseist deogall Bzl oo Siluss Jo

(3-14)

463

314 (ol ibeed! Juldigid] @ diuia

F o r

, Y\Q P l

5 fro— -

4 te Al '_—IJ

31H ‘F

2 ok

|

iN :E {:i—xl-

e T JS pel 20

3.4 (3,4) a.» (55)
5.0 (5 4) 6. ¢ (3,0)
7.0 (1,8) g v (0,0)




13

Graph points on a coordinate plane to solve real-world and mathematical problems

GVl gl 3 Absal z19H Sl el plaseist deogall Bzl oo Siluss Jo

(3-14)

463

314 g lalt iled) Jdead) piseal

. d
?‘T'r::} P Ml
¢ B R
HRCGNRESE
RN
'.N ¥ C Lo

9. (2, 2) L 10. (O, 3)

1. (1,5 G 12. (6, 7)

13. (4, 8) P 14. (7, 0)

H

M

C

Adald S muw) ddo



Determine the common multiples and the least common multiple of a set of numbers (3-14) 515

SlaeYl oo de gamal yioW &) il Caelaallg a5 aell Oiliclaall dudss

A1 Y) (po Ak gons JS o ¥ i) Caclagd) do g

26 63 10

3. 2,13 4. 7.9 5. 2,10

60 80 24

. 12,15 7. 16, 20 8. 3,8



14

Determine the common multiples and the least common multiple of a set of numbers

(3-14)

SlaeYl oo de gamal yioW &) il Caelaallg a5 aell Oiliclaall dudss

215

A1Ae Y (ro Ac gedms U o ¥ I b)) Caclagd) do g

9 48, 10 40 10. 3, 9, 18 18

180
2. 9,12, 15 13. 4,7, 10

1. 15, 25, 75

14. 6,7, 9

75

126



Compare fractions by using the least common denominator |
15 (2-10) 521

ol il plaall plusuiwl )gwSIl ¢ &laal

. e s s L !

plict) alusiuw) ol ZiLed puvy @il (o (RS JS m oL Lads (S L

=gl < g1 > j000d padaiw! . phe ) & il
24 28 20 21 " o4 21
3 7 P 7 2 7
23)s 3590 45>

ol ] Oyl dissb

W
W —
o|un

o
Bl =
G'-|-l-

]
Ul N
wils




Use number lines and benchmark fractions, such as 1/2, to round fractions

Ciadll dasmyall jgwSdl Slagyl bghs slasiwl JgwSJ1 i il

554

= = 5
Shis,as 13 d) JS ol o d) Caas e 35dl o 350

Lol ) ) Cleal 3 gana J ol ¢ cinall) pa B sl

1 i . .
f@J!E;WFLﬁWF%HS
Citralifina ) Ba Ol umlh fuskl Gaias Legsl aliell alsd) oLl

Tiial) Cams Mo al Lojas il JS o]

Co S ) S Agal) 5 3l

3
S SR L S e dS 6 il alt oo Job gle 9
3 e
W67 S =AY
7
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Use number lines and benchmark fractions, such as 1/2, to round fractions (7-11)

Ciuall duasmall jguSlg sVl bglas alisiewl jgwSIl Loyl

554

5

o g S e (el
LAMM-?-WQJ.L:; 1

1

2

Spesazd) o Jlad) oial) sams fadl glass i) aasll L
1

® o © 5
® 7 ® 1




17

Add mixed numbers and solve word problems involving the addition of mixed numbers

&SIl eV mozr cpsnls (1 adSI Jiluad! g &SIl SNeY ga

(2-10)

615

.0 ) g ‘h‘qlgﬁawdﬁeéﬁi .HlﬁJﬂ

4 10 1 3
3 L - 4, ,6_ —9__ 1 igl-=—85_ i
2. 47+ 3¢ = _SE 3. 7r t 25 = _911 4. 512+64——512+612
4 1
12 11
5. 82 +32 = 6.6+ 2o = 7sliel = =524 60
" ©15 15 "9 3 e o 3 2 76 6
0 43| Ligy 2| T e 5
15 5 ~ 79 %9 " "9 =11-
6
4 3 3
8. 35 5 10. 45
2 1 1
+4§ +3§ +?§
10 1 6 1 7 13
3i+4_9 :7? = 8= = 6=+ 3= =9§ :4.i_|_71 = 11—

14 14 14



18

Subtract mixed numbers and solve word problems involving the subtraction of mixed numbers (15-17) 622

& Sl sl 3o panan W &I lewall g & auSdl Slaedl b (4-8) 624

Slust! Yo (%)

l_p_,.ﬂ.‘i._'a-BI _;-Lhalsﬁ I|_‘.|_,;,_-u1‘.J.._..u.r'r4:1..:|.'|.'|._'u-LJ;J:;{J...V: 15

SN 313 Sazes Ledsls oo JB1 LS 13) azsas)

1 4

an.nL.....Z Jlal oy qu.L..u35 ol —ns .16

aabb ) Hlano Ls vtsa,-ﬁ" kg dllae M5 s s jas
ileamdl cyas 8 Jlols @ las dnol Lgnad o)) clelad) sae 8
1 8 1 7

4
=357 %0 %10 %10 T 10




18 Subtract mixed numbers and solve word problems involving the subtraction of mixed numbers (15-17) 622
& Sl sl 3o panan W &I lewall g & auSdl Slaedl b (4-8) 624
QLH.‘JL‘.LI

ole s sl filugd) dasds pgd
7

e 128 as Gle sesl sy ool o glie 97 0l

e gl Jiaias o Ppled) sae B aaL Hlase Lo daoddl (o

Sa.olufy 25 p SN
= 127 91
=12 - ,
= 127 92
INA -8~ ~18
5
= 3—
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Subtract mixed numbers and solve word problems involving the subtraction of mixed numbers (15-17)

622

624

& Sl sl 3o panan W &I lewall g & auSdl Slaedl b (4-8)

ias] ,casll 4o o) 2l ?% il dedad) o2 i) 4

alasJ) alys 2 sl JUUPNPS | I V-
- T - Ja_._u_'li ‘:’j HJS'!

& & 5
Oibe Lgasl jee flog .algel 103 Guowb ,oe alo 5
- 7
IR P= Sy L:?ﬁ Ly qu.é_,.q_:‘. i LEU-"-H L .Lle 1203

12
—127 105 < z1
Y2 12 T T4%




18

Subtract mixed numbers and solve word problems involving the subtraction of mixed numbers (15-17)

622

& Sl sl 3o panan W &I lewall g & auSdl Slaedl b

624

3
JAc LJj aJLrJJl Lq Ty | 99 LJ“"" P'FJ:-_QLS 1245 CL‘:-JJ"

—123 92 —129 98 —31
— | 33— —-12 12— 12

= b l

I .3
e e BB SleS) 3755 sl e 1S 57 ez

B)gua dausl 8 LaS) Sae3M 2alaY) caoil! leSl sue @S

—53 3-5 —59 35 —24 —21
~ %4 Y12 T Y12 12 T 12 3

iy 31 7
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Subtract mixed numbers and solve word problems involving the subtraction of mixed numbers (15-17) 622

& Sl sl 3o panan W &I lewall g & auSdl Slaedl b (4-8) 624

s e (e
Yoo iell g @l Lo 8

1279 889 Lal,> 39 (© Ll,>14 (&)

=127 — 88 = 39




Estimate products of fractions using compatible numbers and rounding I

o yinllg A8l grall SloeNl pluseiwl ) guwSIl Cipd 750 s I

19

(2-13) 651

o) o3 13) L o L) pis oy Lo S ol 50 L33

1 1
3.3X20 =~7 4. > X33 ~16
_g 1x21= 7 1x32= 16
3 2

7 1 3 8 1

= S gy acil 72579 =5
4 1x0= 1
0 —X 1= =

2 2
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Estimate products of fractions using compatible numbers and rounding I (2-13)

o yinllg A8l grall SloeNl pluseiwl ) guwSIl Cipd 750 s I

651

o) o3 13) L o L) pis oy Lo S ol 50 L33

1 3] 2 1
— X = =~ < X 3— .
0 ?.4 9 0 10.23 36 ~ 9
O0x1= 0 3 x3 =9
1 4 6 2
— X 4 — ~ — X 6= ~
~ 42 12. 105 X 4¢ 50 3. 2S5 18

= 42 10 x5 =50 3 x6 =18




multiply mixed numbers (14-16) 684

20

&SIl 1V it (4-8) 686

lw yLed )

Siludl ) Plae Joigd doly I 14
RN [ t_,_._.,2 ovbias oldal) o 35U ds) glo) cians
wredal) el s u-”-ﬂJ NESG SRPEN QN [FUS [F ST SN (RO Ry
Selal) lie¥ Jlea ¥l saall Lo calaal dap)f 3 culal) Jobs ooyl

Slyronsuanl Ll
1 11 4 44 )
=2§X4 Z?XI :? 44—8i

Lmi S YT| [ e 1 | BN ‘!g kg .-.L.g_..oi o add J19

QL5 1DeY 145 45 9 3
Zp2ee Pgn =l g2
4 3 '12"" | '12' 12 4

1 .

: ] 1

Somaidl 5B Lpaasiwiw La)) CslasyY
5 - :




20

multiply mixed numbers (14-16)

684

686

& S Sl s (4-8)

a0 plis (S Liiye 8yse L) Jof o280 5
Sad el 52l & jmendl slial dslias m%mm@

1 1

team/Seat 40 16 16
L’ua.gglj 13) awyael) slasz W) del 1%5.4:@1 it .6
EME?&.&LJJ*J‘ASM+PLQMBUM&9JI

Salosa )
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20 multiply mixed numbers (14-16) 684
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21 Solve problems by working backward (1-5) 425
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Solve problems by working backward

(1-5)

425
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Solve problems by working backward (1-5)

425
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Solve problems by working backward (1-5)

425

Sl a1 Pl Sldaall Cagisis douall pladl Jg> Slusa S (6-10)
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Solve problems by working backward

(1-5)

425

Sl a1 Pl Sldaall Cagisis douall pladl Jg> Slusa S (6-10)
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21 Solve problems by working backward (1-5) 425
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Solve problems by working backward

(1-5)

425
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Solve problems by working backward (1-5)

425

Sl a1 Pl Sldaall Cagisis douall pladl Jg> Slusa S (6-10)
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Solve problems by working backward (1-5)

425

Sl a1 Pl Sldaall Cagisis douall pladl Jg> Slusa S (6-10)
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Add unlike fractions and solve word problems involving the addition of unlike fractions (4-7)
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Add unlike fractions and solve word problems involving the addition of unlike fractions (4-7)
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multiply fractions
il (2-4) 677
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